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Note ~—  Answers may be written either in English orin Hindi; but the same niedium should

, be used throughout the paper. )
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1. (@) Define tax planning and tax evasion. ‘ 5

P.T.O.



( 2) | 1682

b XLt isa comﬁany in which public are not substantially interested. Its shares have
been held by 3 shareholders A, B and C equally. The company made Profits and Losses
as under : : . 5

"Assessment Year Business Profit/Loss Depreciation

“before Depreciation

2006-07 4,00,000 22,00,000

2007-08 3,00,000 | 20,00,000
2008-09 - 17,00,000 Loss 16,00,000
2009-10 | 20,00,000 15,00,000
2010-11 70,00,000 | 10,00,000

During the financial year ended 31-3-2009 A transferred his shares to D and during
the financial year ended 31-3-2010 B transferred his shares to E.

Calculate the taxable Profits and t_he amount of carried forward business Loss and unabsorbed
depreciation for Assessment Years 2009-10 and 2010-11.

(¢) Explain the provision of Minimum Alternate Tax. 5
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2006-07 4,00,000 - " 22,00,000

2007-08 . 3,00,000 ' 20,00,000

2008-09 7, 00,000 'a'rﬁ 16,00,000

2009-10 20 00 000 | 15,00,000

2010-11 ‘ 70,00,000 - 10,00,000
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{a) Tax Management is essential for evt%ry assessee but Tax Plann.ing is bﬁtional.
‘ '.Comment.r , o | o ' 5

- (b) The Profit and Loss A/c of X Ltd. a domestic company, for the year ending 31st Mz;rch,

2010 is given below : : : : 10
| P&L Ale
Eﬁ{penses related to goods Sale of goodsl 'manufgctured by .
manufactured ' ' 10,00,000. company L 20,00,000
Exp. related to other goods 8,20,006 ' Sale of other goods 10,50,000
Proposed Dividend ~ - 7,00,000 ‘ Long-téﬁn capital gain | | ~5,00,000
Provision for uhcertained liability - 80,000 | Amt. withdrawn from General
General Reserve | ' I,G0,000‘ ‘ -Reseryc , : 190,000
Income tax paid o ] 55,'000' | |
Wealth tax paid o 45,000'
Net Profit 340,000
36,40,000 | - 3640,000

P.T.O.
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Other relevant information are as follows :

(1) An outstanding liability related to sales tax for 2005-06 paid during 2009-10

T 50,000 which was not 'charged to above P & L Alc.

¢

(2) Brought forward loss as per books of account is T 80,000 while brought forward

depreciation as per books of account is s % 70, 000

(3) Brought forward unabsorbed depreciation is ¥ 4,00,000.

(4) . Brought forward loss under the head capital gain is ¥ 4,00,000.

_Compute the tax liability of X Ltd. for the Assessment Year 2010-11.
(a)m—wmmﬁ%ﬁﬁﬁﬁmm%mm~mw§ﬁm$% |

fomuit =g |
(@) ©F 2 FOR X Ld. 31 uﬁf 2010 ﬁmaﬁWWﬁ—gﬁﬁ@ﬁ
| fem ™ %
| - S
fafafife ora @ wafm =< 10,00,000 | Fvt Taw faffda q@ ® .
Y tnal?{ Hefud @ 8,20,000 fant - 20,00,000 )
et ":?mm 7,00,000 | 3T A & fast 10,50,000
st domel @ f et fofm e 5,00,000
e 80,000 | W swfafs ¥ smfwm ufw 90,000
e et - 1,00,000
W - 55,000 |
T - 45,000
[ o © . 8,40,000
36,40,000 36,40,000 |
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A compat;y wants to réise capital of ¥20,00,000 for a project where eamingé before
interest and taxes shall be 20% of the capital employed. The company can raise debt
fund @ 10% per annum. Suggest which of the following two alternatives should it opt

for :
(1) ¥ 20,00,000 to be raised by equity capital.
@) ¥ 4,00,000 by equity capital and  16,00,000 by loans. 6

A Ltd. wants to acquire an asset costiné i 2,00,000. It has-two alternatives available.
The first one is buying the asset by taking a loan of ¥ 2,00,000 repayable in 5 equal
installments of ¥ 40,000 each with- intert‘ast @ 12% per annl;m. "I;he second one is leasiné
the asset for which annual lease rental is ¥ 55,000 upto five years. The lessor (;harges

T 3,000 as processing fee i in the first year Assume the Internal rate of return to be

10%. The present value factors are :

Years I it I v \

0909 0826 0751 0683 0.621
PTO.
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Assume lease rentals, processing fees, loans as well as Interest amounts are payable at
year end. Suggest which alternative is better for the company. Take rate of depreciation

@ 15%, tax rate at 33.99%. Assume the residual value of the asset is Nil. 9
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Which package will you choose so that your tax liability is minimum ?
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or,
(31

R holds 25% equity shares in a domestic cor_ripany in which public are not substantially
interested. On 1-09-2009, he obtained a loan of ¥ 6,00,000 at 12% Interest per annum
from the compény'..As on that date, the company had accumulated profits of ¥ 5,00,000.

Explain the tax implication of the transaction on R and also the company. 5

A Ltd. has offered you a Job in Dethi at a basic salary of ¥ 15,000 per month and

an option to choose any one of the following two packages : 7 10
I;ackage I _ . Package II 7

() HRA ¥ 4,500 per month (Rent Com'pan)lz owned unfurnished accommodaﬁon‘
" to be pa.idf 4,500 per month) — F.R.V. ¥ 54,000 per annum |

(i) Education allowance T 400 per Education facility for one child in an institution

month (for one chiid) . .l owned by employer valued at ¥ l300 per
month

(#if) Telephone allowanée T 1,500 Free telephone facility at residence upfo |
per month | ? 1,000 per month |

) Medi;:al éllbwance E4 .2,000 ' Meciical reimbursément upto ¥ 24,000 per
per nr'lonth . ' annum |

(v) Conveyance allowance 3 1,500 | Motor car faqility fqr private ulse with |
per month (for private use) expenditure valued at & 18,000

The company also offers the services of watchman, sweeper and gardener in both the

above packages. The salary of each is ¥ 500 per month. .

P.T.O.
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Mr. X and Y proposed to set up a business either as a partnership firm or as a Private Limited

'Corr;pany, 'with- capital cont;ibution of ? 20,00,000 each. Profits of the business before

»charging their remuneration at ¥ .30,000 per mbnth each and interest @ 10% per annum is -

estimated at ¥ 30, 00 000. Profi ts after tax are proposed to be distributed equally as

’ proﬁt/d1v1dend

Advise them with appropriate working about the form of organization they should choose from
the point of view of tax implication involved in each case, assuming that they have no income

other than from the proposed business. ) | ' : 15

XaﬂtYmﬁizooooooﬁme%mawﬁm’lwﬁa‘:mﬁaw
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(@) When can a company claim exemption regarding capital gains on distfibutioﬁ(of assets

at the time of its liquidation ? o 5

(b)“ Expiain the conseqliehces, where the Scientific Research Assets arg sold without having

been used for other purposes. _ ' 5

P.T.O.
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(c) ThLa written dowﬁ value of the block of assets as on 1-4-2009 was ¥ 10,00,000. An
-asset of the same block was acquired on 21-6-2009 fbr T 5,00,000. There was a fire

on 20-10-2009 and't.he gssets wér_e destroyed by fire and the assessee received a surfn ,

of ¥ 12,00,000 from the insurance company. Compute the capital gains and WDV of |

the block as on 1-4-2010 assuming :
(1) All the assets were destroyed by fire.
@ Part of the block was destroy‘fed by fire. | \ s
(%)@émﬁﬁaﬁﬁqﬂ%wwvﬁﬁqﬁrﬁ%ﬁmmiﬁmsﬁwiﬁ
[ Qe
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What are the methods under which the arm’s Jength price, relating to an international

transaction is determined u/s 92C ? Explain any one method in detail. : 6

Ramesh, a resident Indian, has derived the following incomes for the previous year relevant

to thé assessment year 2010-11 P | v | , '97
Income from Business | o 2 4,00,000
Income from Business in Country A (Tast paid in Country A for this
Income in equivalent Indian Rupees‘? 20,000) | ’ ‘ % 90,000
Income from a BuSinéss in Country B (Tax péid in Country B at 29%) ‘
. converted in Iﬁdiaﬁ Rupees - ‘ T 50,000

Ramesh wishes to know whether he is eligible to any double taxation relief, and if so,
its quantum. India does not have any Double Taxation Avoidance Agreement with Countries

A and B.

()3 Ty § forr s e st emER @ W T T

# frfm ¥ oFifed F A W 92c § wed FiRE fEw S d 2
'W@wnﬁﬁnﬁmwﬁﬁm 5
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(@)ﬁa@mﬁarﬁw%ﬁuﬁmaﬁzmonﬁquﬁwﬁm
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T 4,00,000
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Or
()

(@) Explain the meanihg of “Advance Ruling” under the Income Tax Act in case of Non-

i

Residents and enumerate the persons and transactions bound by it.

) .

(6) A'Non-Resident Company is engaged in the business of operation of ships. From the

following information compute its Business Income assessable in India w's 44B: 5

D

)

Goods shippgd in Bangladesh :

- (@) Freight paid in Bangladesh

(b) Freight paid in India by consignees
Goods shipped in India : ‘ |

(@) Freight paid in India

(b) Freight paid in Pakistan by consignees

{¢) One party delayed the goods, hence the company charged
demurrage

K
1,00,000

40,000

70,000

40,000

20,000
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{¢) Mr Xis an Individual of Indian origin though his residential status is Non-Resident. Dun'.ng'

the previous year 2009-10 his income from investments in Foreign Exchange Assets in

India is as follows : - N - ‘ 4
Interest on‘deposits with Public Ltd. Company T 40,000
P ‘ Interest on Centrai Govt. Securities %50,000
} Dividend fror_n Indian Company ' ' < .30,000 -

Determine the tax liability for the Assessment Year 2010-11 under sections 115-C to

. 115-H. ,

(%) Sfafadl =t feafs § emae afufram & sfwia 'sfim fafofa’ &
aﬁmﬁﬁqaﬂtmimmmﬁkﬁmﬁmm
e o | |

(@) & sfEmt ®ut G-ufEe #1 FRER i ¢ Tefefen g

_ ﬁum@ﬁ@a%a%ﬁwﬁ‘ﬁuhvﬂﬁ#rﬂmﬁmwm

(1) wremRw § 41 T A | o oz

(F) IFERY § YW WGl | o | 1,00,000 -
(@) wra § R oW vEw e o 40,000
() ¥RaG # 9= T A |
(%) wRd H ¥&§ Wt | ' 70,000
(@) ‘ﬁfﬂ?ﬁ @ mmﬁ T ye9 W8l 40,000
IOR R R R R S
fosa-ye foan 20,000
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(M X WA @ A AR ¥, Sefh s fewe wiefr st & gd

(a)
()

()

aﬁzoo&m%‘-éﬁﬁwﬁﬁé@ﬁgmwﬁéﬂﬁiﬁﬁﬁ%ﬁ@wﬁm

s fafiRe w5t § w1 @ s | “ 2 40,000

S5 WK gl WS : 2 50,000
RUSICEERE NI I T 30,000

YR 115 ¢ 9 115 H @& fgior 3w 2010-11 % faw 3gs! ST
fuifm wifsg 1
Define Amalgamation u/s 2(1B) of Income Tax Act. o 3

Explain conditions under section 72A of the Income Tax Act according to which the
amalgamaited company can carry forward and set off of accumulated business losses and

unabsorbed depreciation of Amalgamating Company. 7

Define ‘slump sale’ under section 2(42C). 5

(a)m sfufrm & um 2(1B) @ qgd SHMeH &I SRyt Sifey |

(@) ST R RO A B sk o T R e Fi R R

wRf FE T Fe w e FRE it sk s e
F I AR TESH H THAT §

() ¥ 2(42C) & a7 ‘A ﬁm’ F1 Tty sifeg

(@)

Or
(3

Define the status of transfer of assets between Holding Company and Subsidiary Company.
What are the cases when Profits and Gains arising from sucﬁ transfer will be charged

to capital gain tax ? . . 7
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(b) ‘If a firm is converted into company, capital gains in the hands of firm is not
chargeable to tax. What are the conditions to be satisfied to claim the benefit of

exemption ? I ' 5

(¢) What tax concessions are available in case of Demerger to shareholders of Demerged

Company ? L | o 3
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